THREZERREFEER (ZND2—-1)

$

-999.

99.0
422

35.7

62

(37

999.0 69/

S

-

=

) | LA

68.4

-
"
==
"
0.
3.6
9!
\ 9.0
0
!
)
I}
/
ﬂ'—’
- AN

FLf5Y

12453 K EZRX 5%
REDRREIIBE < DE R

- - - - FHR
—— WREHR

1

|

1\

5 75 50 100
m
THHBERRE THREHNERR G [orsmseronioaciarian J | seveomsjgray oo
: A EE L T T e P = P &

e s =677 i HTRES | HRNIRLEREISIS | @A LEmETS
| T EEOHMOBIAIMERZ DR E3| ®wRr B
EAITHETD Py 3 SHE AT R e L AT
R ThusORS 1 |11000 [EREAR  wF743A[218 Pt LZUBES_TH




THREEREREFEER(ZN2—-2)

0 25 50 100 M OBFIIRFARESETS
TR ERUERREOXEE S BB LA AR £OR LT SR - }N\ BREE | mmpomE  |EHEs 106-H20-008-1
SEF BH S &t SERLL EEAIMUTOBE S EE RE1578 [ B
PIRLD BRI L EEDBBIELY oy e e | [0 | 6783 | wmnmarmios | e EEmme-
52 BE i | . - BRTEL, AX LEEN
= LA ORSL /] |1:1,000[&~&EAB  SH7F3I[A218 PRI T RUBA—TH




THREEREREFEER (ZN2—-3)

0 25 50 100 P OHFIETARESERY
TR EF R E 5 X 150 X 15X 5 THREHLAEASE - EOREIHST IR - }'1 E@ﬁé%% B BE ERES 106-H20-008-1
N ==} —_— s = = i
( fﬂsﬁﬁ\#ﬂﬂd) R BIHSEH %;EQ HIRIZKY EBITBLE + soRROBHOmEHIA SR T —— s588 | #xiRsssiss | @Ea & EATs-1
BEVOM EENERTILEESNSSN) |Fren=se R |— - R AR
= TR ORI [J|1:1,000(& &R B SHTEIA218 FRTEHh R GEA—TH




THKEZERREFEERE (£D3)

(1/1)

TREOBBICKVEEYOM ERICERTS | LREOHBICKVEEDO EEICERT S TEZEOBRBCIYEENOM EHICHERT S| LESOHBICIYEEDOM EEICHERTS
LEEShDh LEEShDh LEESNhSH LEESNhEH
iE%@(*&%)%‘éb“ L :I:E%(D(?%%J)T%éb\‘ L
BRERARORRE | 00N/ m? %182 2K TRETRRORE (100N /m2% 182 2 K5
NDOKRES| +FZ (NWOKES xFZ |HOXES 1FZ (HOXES 1EZ hoXES tFZ |HOXES +FZ |HOXES +FE% |HOXES 1FEZ
DI>bRK| DFE [D3BRK| OFs |03B&K OFs |OBRK 0O D3RR OFE |[D3BHRKX| s |0OBRK 0OFx |065RK 0 s
[EN0)) [EN0)) EN0)) EN0)) EN0)) EN0)) EN0)) EN0))
(kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m)
1 ~ 2 - - 35.91 0.75 - - 13.40 2.50 ~
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1 ~ 2 - - 81.54 0.75 — - 10.75 2.01 ~
2 ~ 3 - - 82.82 0.75 = - 14.16 2.65 ~
3 ~ 4 - - 83.77 0.75 = - 14.53 272 ~
4 ~ 5 - = 93.89 0.75 — = 15.00 2.80 ~
5 ~ 6 - = 93.89 0.75 — = 15.00 2.80 ~
6 ~ 7 - = 92.58 0.75 — = 12.71 2.37 ~
7 ~ 8 - = 92.58 0.75 — = 11.47 2.14 ~
8 ~ 9 - - 82.22 0.75 = N 9.03 1.69 ~
9 ~ 10 = = 78.01 0.75 — = 8.51 1.59 ~
11 ~ 12 = = 80.84 0.75 = - 10.12 1.89 ~
12 ~ 13 = = 80.84 0.75 = = 10.12 1.89 o~
14 ~ 15 = = 80.09 0.75 H = 10.00 1.87 o~
15 ~ 16 = = 83.16 0.75 H = 10.67 1.99 o~
17 ~ 18 = = 83.16 0.75 H = 8.88 1.66 o~
19 ~ 20 = = 79.50 0.75 = = 11.54 2.16 ~
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